
INSTALLATION MANUAL

To Personnel Charged in Installation Work and Service
Wireless remote controller kit
Model: TCB-AX32E2

EB01800301 (EN)

• Thank you for purchasing Wireless remote controller kit TOSHIBA packaged air 
conditioner.

• Read this manual carefully for correct installation of the wireless remote controller 
kit before starting work.

• After the installation is completed, execute a test run to check for normal operation 
and explain how to use and maintain the wireless remote controller kit to the 
customer according to the Owner’s Manual.

Ask the customer to keep this manual with the Owner’s Manual.

Observe the safety precautions described in the Owner’s Manual of the wireless 
remote controller kit, Installation Manual and Owner’s Manual of the indoor unit.

Accessory Parts

Installation Location of Signal Receiving Unit
• Do not install in a location where the air contains oil mist, such as in a kitchen or 

factory.
• Do not install next to a window, or in any other location directly exposed to sunlight 

and outside air.
• Do not install nearby devices which can be expected to produce electrical noise, 

such as elevators, automatic doors, and industrial sewing machines.
• If the Signal receiving unit is installed near a rapid-start type or inverter-type 

fluorescent lamp (a lamp which does not include a glow lamp), it may not be 
possible to receive the wireless remote controller signal in some cases. In order to 
prevent interference from fluorescent lamps, leave a minimum of 2 m between the 
Signal receiving unit and the fluorescent lamps, and install the Signal receiving 
unit in a location where it can receive the wireless remote controller signal when 
the fluorescent lamps are lit.

How to Install the Signal Receiving Unit
To prevent electric shocks, embed the wires in the wall and do not expose them.
When installing wires on the wall, be sure to cover them with insulating materials.
Note:

• To avoid malfunction of the remote controller, do not assemble or run remote 
control wiring together with the power cables, and do not enclose them in the 
same metal conduit.

• When the power unit induces electrical noise, it is recommended that a noise filter 
or the like be installed.

Installing into the switch box
1. Insert a flathead screwdriver or 

similar tool into the groove, and 
remove the lower case. (Fig. 1)

2. Fix the lower case with M4 x 25 
mm screws provided. Do not 
overly tighten, and use the 
provided spacers. If the Signal 
receiving unit does not fit in the 
wall, cut spacers to adjust the 
clearance.

3. Connect the Signal receiving unit wiring (2-core control wire) with the wires 
extended from the indoor unit. (Fig. 2)
(Refer to the Wiring of the Signal Receiving Unit.) 
Be sure to determine the correct terminal numbers on the indoor unit when wiring 
the Signal receiving unit. The Signal receiving unit will be damaged if high voltage 
(such as 220 - 240 V) is applied.

4. Reattach the upper case.

No. Part Name Q’ty

1

Signal receiving unit 
(provided 200 mm control 
wire) 1

2
Mounting bracket

1

3 Screws M4 x 25 mm 2

4 Screws M4 x 40 mm 2

5 Wood screws 2

6 Spacer 4

7 Wire joints 2

8 Cable tie 1

9 Pattern template
95 mm x 51 mm 1

10 Remote controller 1

11
Remote controller 
holder 1

12
Screw for remote 
controller holder
M4 x 16 mm

2

13
Installation Manual

1

14
Owner’s Manual

1

No. Part Name Q’ty

Signal receiving 
unit

Spacer

Screw M4 x 25 mm

Switch box (Locally procured)

Lower case

Signal receiving 
unit

Fig.1

Wire housing
Fig.2

Wiring of the Signal Receiving Unit
Wiring
<Wiring diagram>

<Wire joint>
1. Strip the insulation to approximately 14 mm from the ends of the wires to be 

connected.
2. Twist together the 2 wires and create a crimp connection at the wire joint.
3. If a special crimping tool is not used, or if the connection is soldered, insulate the 

wires using insulation tape.

Mounting on the ceiling
1. Cut a section out of the ceiling along the provided 

paper pattern (95 x 51 mm).
2. Pass the wire through the provided mounting bracket 

and insert the bracket into the installation hole. (Fig. 3)

3. Use bracket parts (A) and (B) to securely grip the 
ceiling material. (Fig. 4)

4. Connect the Signal receiving unit control wire (2-core) 
to the control wire from the indoor unit. (Refer to 
“Wiring of the Signal Receiving Unit”.) Check the 
terminal number on the indoor unit before wiring the 
Signal receiving unit and be sure to wire correctly. 
(The unit will be damaged if high voltage, such as 220 
- 240 V, is applied.)

5. Insert a slotted screwdriver into the opening at the 
bottom of the remote controller. Remove the lower 
case from the signal receiving unit.

6. Adjust the provided spacers so that they are several 
millimeters larger than the thickness of the ceiling 
material. Pass the 2 supplied screws (M4 x 40 mm) 
through the spacers and tighten them enough to hold 
the Signal receiving unit in place.

7. Return parts (A) and (B) through the gap between the 
ceiling and Signal receiving unit so that they are 
contained in the openings. Then tighten the screws.
Do not tighten the screws excessively. This may result 
in damage or deformation of the case.
Tighten to the point where the Signal receiving unit 
can be moved slightly by hand. (Fig. 5)

8. Firmly attach the signal receiving unit to the lower 
case.

Fig.3
Part (A)

Fig.4

Part (B)

Fig.5

Signal receiving unit

Wire joint connection

Control wire (Locally procured)
Wire size 2 x 0.5 to 2.0 mm2

Indoor unit remote 
controller terminal
block

White

Black

Indoor unit control wire
(Locally procured)

Wire joint (provided)Control wire from Signal receiving unit

Multiple Remote Controller Installation
The control by two remote controllers is enabled by installing the wireless remote 
controller with the wired remote controller for an indoor unit.
(Max. 2 remote controllers of wireless or wired are insatiable.)
“2-remote controllers” controlling means that one or multiple units are operated by the 
multiple remote controllers.
Note:
1. Upon confirmation of the terminal numbers of the indoor unit, connect the control 

wire without miswiring. (If applied 220 - 240 V, damage the unit.)
2. The multiple wireless remote controller kits cannot concurrently be used for an 

indoor unit.
3. When installing simultaneously the wireless remote controller with the wired remote 

controller, set one of them as the follower remote controller.
• To use wired remote controller or Lite-vision plus remote controller as a follower, 

settings must be changed. For the details, refer to the installation manual of each 
controller.

• To use the wireless remote controller as a follower, set bit 4 (Follower side) of DIP 
switch SW30 on the signal receiving unit P.C. board to ON.

2-remote controllers
The indoor unit is operated if either wireless or wired remote controller is set as header 
or follower remote controller.
(Total wire length: Within 400 m)

Group control
Header and follower remote controllers are operable even if they are installed to any 
indoor unit. 
(Total wire length: Within 200 m)

Remote controller address (A-B selection) setting
• When two or more signal receiving units are installed in a room, a unique address 

can be set for each signal receiving unit to prevent interference.
• Address (A-B selection) must be changed on both signal receiving unit and 

wireless remote controller.
• For the details of address change (A-B selection) on wireless remote controller, 

refer to the owner's manual.

Turn off the indoor unit power supply. Turn on the bit 3 of DIP switch SW30 on the 
signal receiving unit P.C. board.
The setting change is shown below.

DIP switch [SW30]
4 ON=follower OFF=header
3 ON=B OFF=A
2 Not used
1 Not used

A B

Wireless remote 
controller kit (Header)

Wired remote 
controller (Follower)

(Sold separately)

Control wire
(Locally procured)
2 x 0.5 to 2.0 mm2

Indoor unit
Earth

Remote controller 
connection terminal 
block

Signal receiving unit

A B A B A B A B

Wireless remote 
controller kit (Header)

Wired remote 
controller (Follower)

(Sold 
separately)

Control wire for group control 
(Locally procured)
2 x 0.5 to 2.0 mm2

Earth

Remote 
controller 
connection 
terminal block

Signal receiving 
unit

Earth Earth Earth

Indoor unit 
No.1

Indoor unit 
No.2

Indoor unit 
No.3

Indoor unit 
No.4

SW30

S
W
30

1

O
N

2
3

4

Test run (Forced cooling operation)
Requirement:

• Finish the forced cooling operation in a short time because it applies excessive 
strength to the air conditioner.

How to perform forced cooling operation
1. When TEMPORARY button is pushed for 10 seconds or more, “Pi!” sound is heard 

and the operation changes to a forced cooling operation. After approx. 3 minutes, a 
cooling operation starts forcedly.
Check cool air starts blowing. If the operation does not start, check wiring again.

2. To stop a test operation, push TEMPORARY button once again (Approx. 1 second).
• Check wiring / piping of the indoor and outdoor units in forced cooling operation.

How to handle the remote controller
In case using remote controller mounting to the wall, etc.
Check a signal is received correctly by pushing  button at the position to be fixed.

Self-diagnosis function and measures
• The following table shows a few examples. For details of indoor unit errors, refer to 

the Installation Manual of the indoor unit.

LEDs on the signal receiving unit : OFF : Blinking (at intervals of 0.5 seconds)
LED color : Green : Green : Orange
Explanation to the customer
• After the installation work has been completed, execute a test run to check for normal 

operation and then hand the customer the Owner’s Manual and Installation Manual of 
the wireless remote controller kit.

• Explain how to use and maintain the wireless remote controller kit to the customer 
according to the Owner’s Manual of the wireless remote controller kit.

• Loading Batteries
1. Remove the battery cover.
2. Insert 2 new batteries (R03 [AAA]) following the (+) 

and (-) positions.

LED Possible cause Measures

These LEDs do not light or blink 
even if the remote controller is 
operated.

- Power is not turned on.
- Incorrect connection between 
signal receiving unit and 
indoor unit

Check connections and 
reconnect wires correctly, if 
necessary.

Loose connection between 
signal receiving unit and indoor 
unit

Incorrect or loose connection 
between indoor unit and 
outdoor unit

The protective device of the 
outdoor unit is activated. Check the outdoor unit.

The protective device of the 
indoor unit is activated. Check the indoor unit.

TEMPORARY button

1

2

Mounting screw 
M4 x 16 mm

Remote controller holder Remote 
controller

Remote 
controller holder

Push

Put on.

AC
L

MANUEL D’INSTALLATION

Pour le personnel chargé de l’installation et de l’entretien
Kit de télécommande sans fil
Modèle: TCB-AX32E2

EB01800301 (FR)

• Nous vous remercions d’avoir choisi le climatiseur Kit de télécommande sans fil 
TOSHIBA.

• Avant de commencer, veuillez lire attentivement ce manuel pour une installation 
correcte du Kit de télécommande sans fil.

• Une fois l’installation terminée, procédez à un essai de fonctionnement pour 
vérifier le fonctionnement normal et pour expliquer comment utiliser et entretenir le 
kit de télécommande sans fil au client conformément au Manuel du propriétaire.

Demandez au client de conserver le présent manuel avec le Manuel du propriétaire.

Respectez les précautions de sécurité décrites dans le Manuel du propriétaire du Kit 
de télécommande sans fil, le Manuel d’installation et le Manuel du propriétaire de 
l’unité intérieure.

Pièces accessoires

Installation Emplacement de l’unité réceptrice de signaux
• Ne l’installez pas dans un endroit où l’air contient de la vapeur d’huile, comme 

dans une cuisine ou une usine.
• Ne l’installez pas à coté d’une fenêtre ou dans un endroit directement exposé au 

soleil ou à l’air extérieur.
• Ne l’installez pas près de dispositifs susceptibles de produire du bruit électrique, 

tels que des ascenseurs, des portes automatiques et des machines à coudre 
industrielles.

• Si l’unité réceptrice de signaux est installée près d’une lampe à allumage rapide 
ou de type fluorescent (une lampe qui ne comprends pas de lampe à 
incandescence), il peut ne pas être possible de recevoir le signal de la 
télécommande sans fil dans certains cas. Pour éviter les interférences des lampes 
fluorescentes, laissez un minimum de 2 m entre l’unité réceptrice de signaux et les 
lampes fluorescentes, et installez l’unité réceptrice de signaux dans un endroit où 
elle peut recevoir le signal de la télécommande sans fil quand la lampe 
fluorescente est allumée.

Comment installer l’unité réceptrice de signaux
Pour éviter les électrocutions, intégrez les fils dans le mur et ne les laissez pas exposés.
Lors de l'installation de fils sur le mur, assurez-vous de les recouvrir de matériaux isolants.
Remarque:

• Pour éviter un mauvais fonctionnement de la télécommande, n’installez pas ni ne 
faites passer ensemble le câblage de la télécommande avec les câbles 
d’alimentation, et ne les mettez pas dans le même conduit métallique.

• Si l’unité d’alimentation produit du bruit électrique, il est recommandé d’installer un 
filtre de bruit ou un dispositif similaire.

Installation dans la boite de distribution
1. Insérez la lame d’un tournevis 

plat ou un objet similaire dans la 
fente et retirez le boîtier 
inférieur. (Fig. 1)

2. Fixez le boîtier inférieur avec les 
vis M4 x 25 mm fournies. Ne 
serrez pas trop les vis et utilisez 
les entretoises fournies. Si 
l’unité réceptrice de signaux ne 
s’adapte pas au mur, coupez 
les entretoises pour ajuster 
l’espacement.

3. Connectez le câblage de l’unité réceptrice de signaux (câble de télécommande à 
deux conducteurs) avec les câbles provenant de l’unité intérieure. (Fig. 2)
(Reportez-vous à la section Câblage de l’unité réceptrice de signaux.) 
Assurez-vous de déterminer les numéros de borne corrects sur l’unité intérieure 
lors du câblage de l’unité réceptrice de signaux. L’unité réceptrice de signaux sera 
endommagée si une tension élevée (telle que du 220 - 240 V) est appliquée.

4. Remettez en place le boîtier supérieur.

Nº Nom de la pièce Quantité

1

Unité réceptrice de 
signaux 
(câble de 
télécommande 200 mm 
fourni)

1

2
Support de fixation

1

3 Vis M4 x 25 mm 2

4 Vis M4 x 40 mm 2

5 Vis à bois 2

6 Entretoise 4

7 Raccord 2

8 Serre-câble 1

9 Gabarit
95 mm x 51 mm 1

10 Télécommande 1

11
Support de 
télécommande 1

12
Vis du support de 
télécommande
M4 x 16 mm

2

13
Manuel 
d’installation 1

14
Manuel du 
propriétaire 1

Nº Nom de la pièce Quantité

Unité réceptrice 
de signaux

Entretoise

Vis M4 x 25 mm

Boite de distribution (Fourniture locale)

Boîtier inférieur

Unité réceptrice de 
signaux

Fig.1

Logement des câbles
Fig.2

Câblage de l’unité réceptrice de signaux
Raccordement
<Schéma de câblage>

<Raccord>
1. Dénudez l’isolant sur environ 14 mm à partir des extrémités des câbles à connecter.
2. Torsadez les 2 fils et créez une connexion sertie au niveau du raccord.
3. Si vous n’utilisez pas un outil de sertissage ou si la connexion est soudée, isolez les 

fils en utilisant un ruban isolant.

Montage sur le plafond
1. Coupez une section du plafond le long du gabarit en 

papier fourni (95 x 51 mm).
2. Faites passer le câble à travers le support de 

montage fourni et insérez le support dans le trou 
d’installation. (Fig. 3)

3. Utilisez les pièces (A) et (B) du support pour que la 
fixation au plafond soit solide. (Fig. 4)

4. Connectez le câblage de l’unité réceptrice de signaux 
(deux conducteurs) au câble de télécommande 
provenant de l’unité intérieure. (Reportez-vous à 
“Câblage de l’unité réceptrice de signaux”.) Vérifiez le 
numéro de borne sur l’unité intérieure avant de faire le 
câblage de l’unité réceptrice de signaux et procédez 
au câblage correctement. (L’unité sera endommagée 
si une tension élevée, telle que du 220 - 240 V, est 
appliquée.)

5. Insérez un tournevis pour écrous à fente dans 
l’ouverture en bas de la télécommande. Retirez le 
boîtier inférieur de l’unité réceptrice de signaux.

6. Ajustez les entretoises fournies de façon quelle soient 
plusieurs millimètres plus larges que l’épaisseur du 
matériau du plafond. Faites passer les 2 vis fournies 
(M4 x 40 mm) à travers les entretoises et serrez-les 
suffisamment pour maintenir l’unité réceptrice de 
signaux en place.

7. Remettez les parties (A) et (B) dans les espaces entre 
le plafond et l’unité réceptrice de signaux de façon 
qu’ils remplissent les ouvertures. Plus serrez les vis.
Ne serrez pas les vis trop fort. Cela pourrait 
endommager ou déformer le boîtier.
Serrez-les de façon que l’unité réceptrice de signaux 
puissent être déplacée légèrement avec la main. 
(Fig. 5)

8. Fixez solidement l’unité réceptrice de signaux au 
boîtier inférieur.

Fig.3
Partie (A)

Fig.4

Partie (B)

Fig.5

Unité réceptrice de 
signaux

Connexion du raccord

Câble de télécommande 
(Fourniture locale):
Taille de câble 2 x 0,5 à 2,0 mm2

Bornier de télécommande 
d’unité intérieure

Blanc

Noir

Câble de télécommande de 
l’unité intérieure
(Fourniture locale)

Raccord (fourni)Câble de télécommande de l’unité réceptrice 
de signaux

Installation de plusieurs télécommandes
Une commande à partir de deux télécommandes est possible en installant la 
télécommande sans fil avec la télécommande câblée pour une unité intérieure.
(Il est possible d’installer un maximum de 2 télécommandes, sans fil et câblée.)
La commande “2 télécommandes” signifie qu’une ou plusieurs unités sont 
commandées par plusieurs télécommandes.
Remarque:
1. Après avoir vérifié le nombre de prise de l’unité intérieure, raccordez correctement 

le câble de télécommande. (Si vous appliquez une tension de 220 - 240 V, l’unité 
sera endommagée.)

2. Plusieurs kits de télécommandes sans fils ne peuvent pas être utilisés en même 
temps pour une unité intérieure.

3. Lors d’une installation simultanée d’une télécommande sans fil et d’une 
télécommande câblée, réglez une des deux comme télécommande secondaire.
• Pour utiliser une télécommande câblée ou une télécommande Lite-vision plus 

comme télécommande secondaire, les réglages doivent être changés. Pour de 
plus amples détails, reportez-vous au manuel d’installation de chaque 
télécommande.

• Pour utiliser la télécommande sans fil comme une secondaire, réglez le bit 4 (coté 
secondaire) du commutateur DIP SW30 sur de la carte CI de réception du signal 
sur ON.

2 télécommandes
L’unité intérieure est commandée si une des télécommande, sans fil ou câblée, est 
réglée comme télécommande principale ou secondaire.
(Longueur totale du câble: Maximum 400 m)

Commande de groupe
Les télécommandes principales et secondaires sont utilisables quelle que soit l’unité 
intérieure sur laquelle elles sont installées. 
(Longueur totale du câble: Maximum 200 m)

Réglage de l’adresse de la télécommande (sélection A-B)
• Lorsque deux ou plusieurs unités réceptrices de signaux sont installées dans une 

même pièce, une adresse unique peut être réglée pour chaque unité réceptrice de 
signaux pour éviter toute interférence.

• L’adresse (sélection A-B) doit être changée sur les deux unités réceptrices de 
signaux et sur la télécommande sans fil.

• Pour en savoir plus sur le changement de l’adresse (sélection A-B) sur la 
télécommande sans fil, reportez-vous au manuel du propriétaire.

Mettez l’unité intérieure hors tension. Réglez le bit 3 du commutateur DIP SW30 de la 
carte CI de réception du signal sur ON.
Le changement de réglage est indiqué ci-dessous.

Commutateur DIP [SW30]
4 ON=secondaire OFF=principal
3 ON=B OFF=A
2 Non utilisé
1 Non utilisé

A B

Kit de télécommande sans 
fil (Principale)

Télécommande 
câblée (Secondaire)

(Vendu séparément)

Câble de commande
(Fourniture locale)
2 x 0,5 à 2,0 mm2

Unité intérieure
Terre

Bornier de 
raccordement de la 
télécommande

Unité réceptrice de 
signaux

A B A B A B A B

Kit de télécommande 
sans fil (Principale)

Télécommande câblée 
(Secondaire)

(Vendu 
séparément)

Câble de télécommande pour 
commande de groupe 
(Fourniture locale)
2 x 0,5 à 2,0 mm2

Terre

Bornier de 
raccordement 
de la 
télécommande

Unité réceptrice 
de signaux

Terre Terre Terre

Unité 
intérieure 

Nº 1

Unité 
intérieure 

Nº 2

Unité 
intérieure 

Nº 3

Unité 
intérieure 

Nº 4

SW30

S
W
30

1

O
N

2
3

4

Essai de fonctionnement (commande de refroidissement forcé)
Caractéristiques requises:

• Terminez la marche forcée rapidement parce qu’elle applique des contraintes 
extrêmes sur le climatiseur.

Comment réaliser un refroidissement forcé
1. Quand vous appuyez sur la touche TEMPORARY pendant au moins 10 secondes, 

un « bip » est émis et la marche forcée de refroidissement est commandée. Après 
environ 3 minutes, la marche forcée de refroidissement commence.
Assurez-vous que de l’air froid est émis. Si le fonctionnement ne démarre pas, 
contrôlez le câblage à nouveau.

2. Pour arrêter l’essai, appuyez une nouvelle fois sur la touche TEMPORARY (environ 
1 seconde).
• Vérifiez le câblage et la tuyauterie des unités intérieures et extérieures en marche 

forcée de refroidissement.

Comment manipuler la télécommande
Dans le cas de l’utilisation d’une télécommande montée sur le mur, etc.
Pour vérifier si un signal est reçu correctement, appuyez sur la touche  à la position 
de fixation.

Tableau d’autodiagnostic et mesures
• Le tableau suivant reprend quelques exemples. Pour les détails des erreurs de 

l’unité intérieure, reportez-vous au Manuel d’installation de l’unité intérieure.

Témoins de l’unité réceptrice de signaux : OFF : Clignotent (à intervalles de 0,5 
secondes)
Couleur du témoin : Vert : Vert : Orange
Explication destinée aux clients
• Une fois l’installation terminée, procédez à un essai de fonctionnement pour vérifier 

le fonctionnement normal et remettez ensuite le Manuel du propriétaire et le Manuel 
d’installation du Kit de télécommande sans fil au client.

• Expliquez l’utilisation et l’entretien du Kit de télécommande sans fil au client 
conformément au Manuel du propriétaire du Kit de télécommande sans fil.

• Mise en place des piles
1. Déposez le couvercle du logement des piles.
2. Introduisez 2 piles neuves (R03 [AAA]) en 

respectant la polarité (+) et (-).

LED Cause possible Mesures

Ces témoins ne s’allument pas 
ou clignotent même en cas 
d’utilisation de la télécommande.

- Le système n’est pas sous 
tension.

- Erreur de raccordement entre 
l'unité réceptrice de signaux et 
l’unité intérieure

Vérifiez les raccordements et 
raccordez à nouveau les câbles 
correctement, si nécessaire.

Défaut de raccordement entre 
l'unité réceptrice de signaux et 
l’unité intérieure

Erreur ou défaut de 
raccordement entre l’unité 
intérieure et l’unité extérieure

Le dispositif de protection de 
l’unité extérieure est activé. Vérifiez l’unité extérieure.

Le dispositif de protection de 
l’unité intérieure est activé. Vérifiez l’unité intérieure.

Bouton TEMPORARY

1

2

Vis de fixation 
M4 x 16 mm

Support de télécommande Télécommande

Support de 
télécommande

Appuyez

Montez.

AC
L

INSTALLATIONSHANDBUCH

Für Installations- und Wartungspersonal
Drahtloser Fernbedienungssatz
Modell: TCB-AX32E2

EB01800301 (DE)

• Vielen Dank für den Erwerb einer Drahtloser Fernbedienungssatz für Klimageräte von 
TOSHIBA.

• Lesen Sie diese Anleitung aufmerksam durch, um die ordnungsgemäße Installation des 
drahtloser fernbedienungssatz vor der ersten Inbetriebnahme zu gewährleisten.

• Führen Sie nach Abschluss der Installation einen Testlauf durch, um den 
ordnungsgemäßen Betrieb zu gewährleisten, und erklären Sie dem Kunden den Betrieb 
und die Wartung des drahtloser fernbedienungssatz gemäß der Bedienungsanleitung.

Bitten Sie den Kunden, diese Anleitung gemeinsam mit der Bedienungsanleitung 
aufzubewahren.

Beachten Sie die in der Bedienungsanleitung der drahtloser fernbedienungssatz, in 
der Installationshandbuch und in der Bedienungsanleitung des Innengerät 
aufgeführten Sicherheitshinweise.

Zubehör

Installationsort des Signalempfängers
• Installieren Sie das Außengerät nicht an einem Ort, wo die Luft Ölnebel enthält, 

wie in einer Küche oder Fabrik.
• Nicht direkt neben einem Fenster oder an einem anderen Ort aufstellen, der direkt 

Sonnenlicht und Außenluft ausgesetzt ist.
• Nicht Geräte in der Nähe installieren, die elektrische Störungen verursachen, wie 

Fahrstühle, automatische Türen und industrielle Nähmaschinen.
• Wenn der Signalempfänger in der Nähe einer Schnellstart- oder Wechselrichter-

Leuchtstofflampe (einer Lampe, die keine Glühlampe enthält) installiert wird, kann 
es in manchen Fällen unmöglich sein, das Signal der drahtlosen Fernbedienung 
zu empfangen. Um Störungen durch Leuchstofflampen zu vermeiden, lassen Sie 
einen Abstand von mindestens 2 m zwischen dem Signalempfänger und den 
Leuchtstofflampen und installieren den Signalempfänger an einem Ort, wo er das 
drahtlose Fernbedienungssignal empfangen kann, wenn die Leuchstofflampen 
leuchten.

Installation des Signalempfängers
Zur Verhinderung elektrischer Schläge müssen die Kabel in der Wand eingebettet 
werden und dürfen nicht freiliegen. Beim Anbringen von Kabeln an der Wand müssen 
diese immer mit Isoliermaterial abgedeckt werden.
Hinweis:

• Um Fehlfunktion der Fernbedienung zu vermeiden montieren oder verlegen Sie 
die Fernbedienungsverkabelung nicht zusammen mit den Netzstromkabeln, und 
platzieren Sie sie nicht im gleichen Metallrohr.

• Wenn das Leistungsteil elektrische Störungen verursacht, empfehlen wir, einen 
Rauschfilter o.ä. zu installieren.

Installieren im Schaltkasten
1. Stecken Sie einen flachen 

Schraubendreher oder 
ähnliches Werkzeug in die Nut 
und senken Sie das 
Gehäuseunterteil ab. (Abb. 1)

2. Befestigen Sie as 
Gehäuseunterteil mit den 
mitgelieferten M4 x 25 mm 
Schrauben. Nicht zu stark 
festziehen, und die 
mitgelieferten Abstandshalter 
verwenden. Wenn der 
Signalempfänger nicht in die 
Wand passt, schneiden Sie 
Abstandshalter zu, um den 
Abstand anzupassen.

3. Schließen Sie die Signalempfänger-Verkabelung (2-adriges Steuerkabel) mit den 
aus dem Innengerät austretenden Kabeln an. (Abb. 2)
(Siehe Verkabelung des Signalempfängers.) 
Stellen Sie sicher, dass Sie die richtigen Klemmennummern am Innengerät 
anschließen, wenn Sie den Signalempfänger verkabeln. Der Signalempfänger wird 
beschädigt, wenn hohe Spannung (wie 220 - 240 V) angelegt wird.

4. Bringen Sie den oberen Gehäuseteil an.

Nr. Teilename Anz.

1

Signalempfänger 
(mitgeliefertes 200 mm 
Steuerkabel) 1

2
Montagebügel

1

3 Schrauben M4 x 25 mm 2

4 Schrauben M4 x 
40 mm 2

5 Holzschrauben 2

6 Abstandshalter 4

7 Kabelverbindungen 2

8 Kabelbinder 1

9 Musterschablone
95 mm x 51 mm 1

10 Fernbedienung 1

11
Halterung für die 
Fernbedienung 1

12

Schraube für 
Halterung für die 
Fernbedienung
M4 x 16 mm

2

13
Installationshandbuch

1

14
Bedienungsanleitung

1

Nr. Teilename Anz.

Signalempfänger Abstandshalter

Schraube M4 x 25 mm

Schaltkasten (vor Ort bereitzustellen)

Gehäuseunterteil

Signalempfänger

Abb.1

Drahtgehäuse
Abb. 2

Verkabelung des Signalempfängers
Leitungsanschluss
<Verbindungsdiagramm>

<Kabelverbindung>
1. Isolieren Sie die Enden der anzuschließenden Drähte auf ca. 14 mm ab.
2. Drehen Sie die 2 Drähte zusammen und erstellen Sie eine Crimpverbindung an der 

Kabelverbindung.
3. Wenn kein spezielles Crimp-Werkzeug verwendet wird oder wenn die Verbindung 

gelötet ist, isolieren Sie die Drähte mit Isolationsband ab.

Anbringen an der Decke
1. Schneiden Sie eine Sektion aus der Decke, 

zusammen mit dem mitgelieferten Papiermuster (95 
bis 51 mm).

2. Führen Sie das Kabel durch den mitgelieferten 
Montagebügel und führen Sie den Bügel in das 
Installationsloch ein. (Abb. 3)

3. Verwenden Sie die Teile (A) und (B) zum sicheren 
Greifen des Deckenmaterials. (Abb. 4)

4. Schließen Sie das Signalempfänger-Steuerkabel (2-
adrig) vom Innengerät am Steuerkabel an. (Siehe 
“Verkabelung des Signalempfängers.”) Prüfen Sie die 
Klemmennummer am Innengerät, bevor Sie den 
Signalempfänger verkabeln und stellen Sie sicher, 
dass die Verkabelung richtig ausgeführt wird. (Das 
Gerät wird beschädigt, wenn hohe Spannung, wie 
220 - 240 V, angelegt wird.)

5. Setzen Sie einen Schlitzschraubendreher in die 
Öffnung an der Unterseite der Fernbedienung. 
Entfernen Sie das Gehäuseunterteil vom 
Signalempfänger.

6. Passen Sie die mitgelieferten Abstandshalter an, so 
dass sie mehrere Millimeter größer als die Dicke des 
Deckenmaterials sind. Führen Sie die 2 mitgelieferten 
Schrauben (M4 x 40 mm) durch die Abstandshalter 
und ziehen Sie sie fest genug an, um den 
Signalempfänger festzuhalten.

7. Führen Sie die Teile (A) und (B) durch den Spalt 
zwischen Decke und Signalempfänger zurück, so 
dass sie in den Öffnungen enthalten sind. Ziehen Sie 
dann die Schrauben fest.
Ziehen Sie die Schrauben nicht zu stark fest. Dies 
kann zu Schäden oder Verformungen des Gehäuses 
führen.
Ziehen Sie bis zu dem Punkt fest, wo der 
Signalempfänger leicht mit der Hand bewegt werden 
kann. (Abb. 5)

8. Bringen Sie den Signalempfänger am 
Gehäuseunterteil an.

Abb. 3
Teil (A)

Abb. 4

Teil (B)

Abb.5

Signalempfänger

Kabelverbindungsanschluss

Steuerkabel (vor Ort bereitzustellen)
Kabelgröße 2 x 0,5 to 2,0 mm2

Fernbedienungsklemmleiste 
des Innengeräts block

Weiß

Schwarz

Innengerät-Steuerkabel
(vor Ort bereitzustellen)

Kabelverbindung (mitgeliefert)Steuerkabel vom Signalempfänger

Installation mehrfacher Fernbedienungen
Die Steuerung über zwei Fernbedienungen wird durch Installation der drahtlosen 
Fernbedienung mit der Kabelfernbedienung für ein Innengerät ermöglicht.
(Max. 2 m bei drahtlose oder Kabelfernbedienungen sind installierbar.)
“2-Fernbedienungen”-Steuerung bedeutet, dass eine oder mehrere Einheiten von 
mehreren Fernbedienungen gesteuert werden.
Hinweis:
1. Nach Bestätigung der Klemmennummern des Innengerät schließen Sie das 

Steuerkabel ohne Fehlverkabelung an. (Wenn 220 - 240 V angelegt werden, kann 
das Gerät beschädigt werden.)

2. Die Materialsätze für drahtlose Fernbedienungen können nicht gleichzeitig mit 
denen für ein Innengerät verwendet werden.

3. Beim Installieren der drahtlosen Fernbedienung gleichzeitig mit der Kabel stellen 
Sie eine der Fernbedienungen als Folgegerät-Fernbedienung ein.
• Zur Verwendung der Kabelfernbedienung oder Lite-vision plus Fernbedienung als 

Folgegerät müssen die Einstellungen geändert werden. Weitere Informationen 
ersehen Sie aus der Installationsanleitung jeder Fernbedienung.

• Um die drahtlose Fernbedienung als Folgegerät zu verwenden, setzen Sie Bit 4 
(Folgegerät-Seite) des DIP-Schalters SW30 an der Leiterplatte des 
Signalempfängers auf ON.

2-Fernbedienungen
Die Innengerät kann unabhängig davon bedient werden, ob die drahtlose oder die 
Kabelfernbedienung als Hauptsteuerung oder Folgegerät eingestellt ist.
(Gesamte Kabellänge: Innerhalb 400 m)

Gruppensteuerung
Die Haupt- und Folgegerät-Fernbedienungen können selbst bei Anschluss an eine 
beliebige Innengerät betrieben werden. 
(Gesamte Kabellänge: Innerhalb 200 m)

Einstellung der Fernbedienungsadresse (A-B-Auswahl)
• Wenn zwei oder mehr Signalempfänger in einem Raum installiert werden, kann 

für jeden Signalempfänger eine eindeutige Adresse eingestellt werden, um 
Störungen zu vermeiden.

• Fernbedienungsadresse (A-B-Auswahl) muss an beiden Signalempfängern und 
an der drahtlosen Fernbedienung geändert werden.

• Für die Einzelheiten zur Adressenänderung (A-B-Auswahl) auf der drahtlosen 
Fernbedienung siehe Bedienungsanleitung.

Die Netzstromversorgung des Innengerät ausschalten. Schalten Sie Bit 3 des DIP-
Schalters SW30 an der Leiterplatte des Signalempfängers ein.
Die Änderung der Einstellung wird unten gezeigt.

DIP-Schalter [SW30]
4 ON=Folgegerät OFF=Hauptsteuerung
3 ON=B OFF=A
2 Nicht verwendet
1 Nicht verwendet

A B

Drahtloser Fernbedienungssatz 
(Hauptsteuerung)

Kabelfernbedienung 
(Folgegerät)

(Separat erhältlich)

Steuerkabel
(vor Ort bereitzustellen)
2 x 0,5 bis 2,0 mm2

Innengerät
Erde

Klemmenleiste für 
die Fernbedienung

Signalempfänger

A B A B A B A B

Drahtloser Fernbedienungssatz 
(Hauptsteuerung)

Kabelfernbedienung 
(Folgegerät)

(Separat 
erhältlich)

Steuerkabel für Gruppensteuerung 
(vor Ort bereitzustellen)
2 x 0,5 bis 2,0 mm2

Erde

Klemmenleiste 
für die 
Fernbedienung

Signalempfänger

Erde Erde Erde

Innengerät 
Nr. 1

Innengerät 
Nr. 2

Innengerät 
Nr. 3

Innengerät 
Nr. 4

SW30

S
W
30

1

O
N

2
3

4

Testlauf (Fremdkühlungsbetrieb)
Anforderungen:

• Beenden Sie den Fremdkühlungsbetrieb nach kurzer Zeit, da er die Klimaanlage 
zu starker Belastung aussetzt.

Ausführen von Fremdkühlungsbetrieb
1. Wenn die TEMPORARY-Taste für 10 Sekunden oder länger gedrückt wird, ertönt 

ein “Pii!”-Ton, und der Betrieb schaltet auf Fremdkühlungsbetrieb um. Nach ca. 3 
Minuten wird die Kühlung zwangsweise gestartet.
Prüfen Sie, ob kühle Luft auszuströmen beginnt. Wenn der Betrieb nicht startet, die 
Verkabelung erneut prüfen.

2. Zum Ausführen eines Testvorgangs drücken Sie die TEMPORARY-Taste noch 
einmal (ca. 1 Sekunde).
• Prüfen Sie die Verkabelung/Verrohrung der Raum- und Außengeräte im 

Fremdkühlungsbetrieb.

Handhabung der Fernbedienung
Bei Verwendung wandmontierter Fernbedienungen usw.
Prüfen Sie, ob ein Signal richtig empfangen wird, indem Sie die Taste  in der 
gewünschten Montageposition drücken.

Selbstdiagnosefunktion und Maßnahmen
• In der nachfolgenden Tabelle sind einige Beispiele aufgeführt. Ausführlichere 

Informationen zu Störungen der Innengerät finden Sie in der Installationshandbuch 
der Innengerät.

LEDs am Signalempfänger : OFF : Blinken (in einem Intervall von 0,5 Sekunden)
LED-Farbe : Grün : Grün : Orange
Einweisung des Kunden
• Führen Sie nach Abschluss der Installation einen Testlauf durch, um den 

ordnungsgemäßen Betrieb zu überprüfen, und händigen Sie dem Kunden dann die 
Bedienungs-und Installationshandbuch der drahtloser fernbedienungssatz aus.

• Erklären Sie dem Kunden die Bedienung und Wartung der drahtloser 
fernbedienungssatz gemäß der Bedienungsanleitung der drahtloser fernbedienungssatz.

• Einlegen der Batterien
1. Entfernen Sie die Batterieabdeckung.
2. Setzen Sie 2 neue Batterien (R03 [AAA]) 

entsprechend den Positionen (+) und (-).

LED Mögliche Ursache Maßnahmen

Diese LEDs leuchten oder 
blinken selbst bei Betätigung 
der Fernbedienung nicht.

- Das Gerät ist nicht 
eingeschaltet.

- Falsche Verbindung zwischen 
Signalempfänger und 
Innengerät

Überprüfen Sie die Verbindung 
und schließen Sie die Kabel 
erforderlichenfalls neu an.

Lockere Kabel zwischen 
Signalempfänger und 
Innengerät

Falsche oder lockere 
Verbindung zwischen 
Innengerät und Außengerät

Die Schutzeinrichtung des 
Außengeräts ist aktiviert.

Überprüfen Sie das 
Außengerät.

Die Schutzeinrichtung des 
Innengerät ist aktiviert. Überprüfen Sie das Innengerät.

TEMPORARY-Taste

1

2

Befestigungsschraube 
M4 x 16 mm

Halterung für die Fernbedienung Fernbedienung

Halterung für die 
Fernbedienung

Drücken

Einsetzen

AC
L

MANUALE D’INSTALLAZIONE

Per l’installatore e il manutentore
Kit telecomando senza filo
Modello: TCB-AX32E2

EB01800301 (IT)

• Grazie per aver acquistato questo Kit telecomando senza filo per condizionatore d’aria 
TOSHIBA.

• Prima d’installare il Kit telecomando senza filo si raccomanda di leggere a fondo questo 
manuale.

• Al termine dell’installazione si raccomanda altresì di eseguire una prova di 
funzionamento per verificare che il Kit telecomando senza filo funzioni correttamente e 
di spiegarne l’uso al cliente in conformità al contenuto del manuale dell’utilizzatore.

Si deve infine raccomandare al cliente di conservare questo manuale insieme a quello 
dell’installatore.

Si raccomanda di osservare le precauzioni per la sicurezza riportate nel manuale 
dell’utilizzatore del Kit telecomando senza filo e nei manuali dell’utilizzatore e 
d’installazione dell’unità interna.

Accessori

Punto d’installazione del ricevitore del segnale
• Non installare il ricevitore in un locale la cui l’aria contenga fumi d’olio, ad esempio 

in una cucina o in un’officina.
• Non installarlo vicino a una finestra né in altri punti in cui sia esposto direttamente 

alla luce del sole o all’aria esterna.
• Non installarlo vicino ad apparecchi, macchine o impianti prevedibilmente 

originanti disturbi elettrici quali ascensori, porte automatiche e macchine da cucire 
industriali.

• Se lo s’installa vicino a una lampada fluorescente ad accensione rapida o ad 
inverter (non del tipo a incandescenza), in determinate circostanze potrebbe non 
riuscire a ricevere il segnale del telecomando senza filo. Per impedire tali 
interferenze si suggerisce d’installare il ricevitore ad almeno 2 metri di distanza e 
comunque in un punto in cui possa ricevere regolarmente il segnale anche 
quando tali lampade sono accese.

Come installare il ricevitore del segnale
Per prevenire le scosse elettriche si suggerisce di fare scorrere i cavi nella parete, non 
al suo esterno.
In caso d’installazione all'esterno della parete si raccomanda almeno di proteggerli con 
del materiale isolante.
Nota:

• Per evitare il malfunzionamento del telecomando non se ne devono far scorrere i 
fili insieme ai cavi di alimentazione elettrica, soprattutto se in un condotto 
metallico.

• Qualora l’unità di alimentazione crei disturbi elettrici si raccomanda d’installare un 
filtro anti-rumore.

Installazione in una scatola elettrica
1. Inserendo un cacciavite a testa 

piatta nell’apposita fessura 
rimuovere la parte posteriore. 
(Figura 1)

2. Con le viti M4 x 25 mm in 
dotazione fissare la parte 
posteriore alla parete. Non 
serrarle eccessivamente e usare 
i distanziatori anch’essi forniti in 
dotazione. Se il ricevitore non 
entra completamente nella 
parete si può provare a ridurre lo 
spessore dei distanziatori.

3. Collegare il cavo del ricevitore (a due conduttori) al corrispondente cavo dell’unità 
interna (Figura 2)
(vedere Collegamento elettrico del ricevitore del segnale). 
Prima di collegare il cavo del ricevitore è necessario controllare i numeri di 
morsettiera dell’unità interna. In caso di collegamento errato all’applicazione della 
tensione 220 - 240 V il ricevitore si danneggerebbe.

4. Riapplicare la parte anteriore del ricevitore.

No. Nome della parte Q.tà

1

Ricevitore del segnale 
(con cavo di controllo da 
200 mm) 1

2
Staffa di fissaggio

1

3 Viti M4 x 25 mm 2

4 Viti M4 x 40 mm 2

5 Viti per legno 2

6 Distanziale 4

7 Giunta-cavo 2

8 Fascetta fermacavo 1

9
Mascherina di 
montaggio
95 mm x 51 mm

1

10 Telecomando 1

11
Porta-telecomando

1

12
Vite per porta-
telecomando
M4 x 16 mm

2

13
Manuale 
d’installazione 1

14
Manuale del 
proprietario 1

No. Nome della parte Q.tà

Ricevitore del 
segnale

Distanziale

Vite M4 x 25 mm

Scatola elettrica (da approvvigionare in loco)

Parte posteriore

Ricevitore del 
segnale

Figura 1

Disposizione dei cavi
Figura 2

Collegamento elettrico del ricevitore del segnale
Cablaggio
<Schema dei collegamenti elettrici>

<Giunta-cavo>
1. Rimuovere circa 14 mm di guaina isolante dalle estremità dei cavi da collegare.
2. Attorcigliare le due estremità dei cavi e nel punto di collegamento eseguire una 

crimpatura.
3. Se non li si desidera crimpare con un’apposita crimpatrice o li si preferisce saldare li 

si deve poi proteggere con del nastro isolante.

Montaggio a soffitto
1. Con l’ausilio della mascherina di carta da 95 x 51 mm 

fornita in dotazione eseguire in uno dei pannelli del 
soffitto un foro di egual misura.

2. Fare passare il cavo nella staffa di fissaggio fornita in 
dotazione inserirla nel foro appena ritagliato. (Figura 
3)

3. Con le parti (A) e (B) della staffa assicurarla bene al 
pannello del soffitto. (Figura 4)

4. Collegare il cavo del ricevitore (a due conduttori) al 
corrispondente cavo dell’unità interna (vedere 
“Collegamento elettrico del ricevitore del segnale”). 
Prima di collegare elettricamente il ricevitore del 
segnale controllare attentamente i numeri di 
morsettiera dell’unità interna (in caso di collegamento 
errato il ricevitore si danneggerebbe non appena si 
applica tensione 220 - 240 V).

5. Inserendo un cacciavite a testa piatta nell’apertura sul 
fondo del ricevitore rimuoverne la parte posteriore .

6. Regolare i distanziatori forniti in dotazione affinché 
risultino alcuni millimetri più lunghi dello spessore del 
pannello del soffitto. Inserire nei distanziatori le 2 viti 
M4 x 40 mm fornite in dotazione e serrarle quanto 
necessario per mantenere saldamente in posizione il 
ricevitore del segnale,

7. Fare ritornare le parti (A) e (B) nello spazio tra il 
soffitto e il ricevitore del segnale affinché rimangano 
contenute nell’apertura. Serrare quindi le viti ma non 
eccessivamente, poiché il contenitore del ricevitore 
potrebbe danneggiarsi o comunque deformarsi. 
In linea di massima si suggerisce di serrarle quanto 
basta per poter muovere lievemente con la mano la 
parte posteriore del ricevitore. (Figura 5)

8. Fissare saldamente il ricevitore alla propria parte 
posteriore.

Figura 3
Parte (A)

Figura 4

Parte (B)

Figura 5

Ricevitore del segnale

Collegamento con giunta-cavo

Cavo di controllo (da 
approvvigionare in loco)
2 conduttori  da 0,5 a 2,0 mm2

Morsettiera telecomando 
unità terminal

Bianco

Nero

Cavo di controllo dell’unità interna
(da approvvigionare sul posto)

Giunta-cavo (in dotazione)Cavo di controllo del ricevitore del segnale

Installazione di più telecomandi
Un’unità interna può essere controllata con due telecomandi, uno senza filo (wireless, 
cioè non cablato) e uno a filo.
(Sono installabili al massimo 2 telecomandi a filo o senza filo.)
“2 telecomandi” significa che una o più unità interne possono essere controllate con 
più telecomandi.
Nota:
1. Prima di collegare il cavo di telecomando si raccomanda di controllare bene i 

numeri di morsettiera dell’unità interna (In caso di collegamento errato, infatti, 
all’applicazione della tensione da 220 - 240 V essa si danneggerebbe).

2. Per una stessa unità interna non è possibile usare più kit di telecomando senza filo.
3. In caso d’installazione contemporanea di un telecomando senza filo e di uno a filo 

uno dei due deve essere impostato come telecomando secondario.
• Per usare come dispositivo di controllo secondario un telecomando a filo oppure 

un Lite-vision con telecomando è necessario cambiare le impostazioni. Per 
ulteriori informazioni si prega di vederne il manuale d’installazione.

• Per usare il telecomando senza filo come dispositivo di controllo secondario, il bit 
4 (lato secondario) dell’interruttore DIP SW30 della scheda elettronica del 
ricevitore del segnale deve essere impostato nella posizione ON.

2 telecomandi
L’unità interna è gestibile indifferentemente con il telecomando senza filo oppure con il 
telecomando a filo impostato come dispositivo di controllo principale o secondario.
(Lunghezza totale del cavo: massimo 400 metri)

Controllo di gruppo
I telecomandi principale e secondario sono utilizzabili con qualsiasi unità interna. 
(Lunghezza totale del cavo: massimo 200 metri)

Impostazione dell’indirizzo dei telecomandi (selezione A-B)
• Se in un locale sono installate due o più ricevitori del segnale, per prevenire le 

interferenze a ciascuno di essi deve essere assegnato un indirizzo specifico.
• L’indirizzo (selezione A-B) deve essere impostato sia nel ricevitore del segnale sia 

nel telecomando senza filo.
• Per istruzioni sull’impostazione dell’indirizzo (selezione A-B) nel telecomando 

senza filo si prega di vederne il manuale d’uso.

Spegnere (disalimentare) l’unità interna. Impostare nella posizione ON il bit 3 
dell’interruttore DIP SW30 della scheda elettronica del ricevitore del segnale.
Più oltre si riporta la tabella delle impostazioni.

Interruttore DIP [SW30]
4 ON=secondario OFF=principale
3 ON=B OFF=A
2 Non utilizzato
1 Non utilizzato

A B

Kit telecomando 
senza filo (principale)

Telecomando a filo 
(secondario)

(In vendita separatamente)

Cavo di controllo
(da approvvigionare sul 
posto)
2 x (da 0,5 a 2,0 mm2)

Unità interna
Terra

Morsettiera del 
telecomando

Ricevitore del segnale

A B A B A B A B

Kit telecomando 
senza filo (principale)

Telecomando a filo 
(secondario)

(In vendita 
separatamente)

Cavo per il controllo di gruppo 
(da approvvigionare sul posto)
2 x (da 0,5 a 2,0 mm2)

Terra

Morsettiera 
del 
telecomando

Ricevitore del 
segnale

Terra Terra Terra

Unità 
interna n. 1

Unità 
interna n. 2

Unità 
interna n. 3

Unità 
interna n. 4

SW30

S
W
30

1

O
N

2
3

4

Prova di funzionamento (raffreddamento forzato)
Requisito:

• Si raccomanda di non far durare troppo a lungo l’operazione di raffreddamento 
forzato poiché in tal modo si solleciterebbe eccessivamente il condizionatore.

Come eseguire il raffreddamento forzato
1. Quando si preme il tasto TEMPORARY per almeno 10 secondi il condizionatore 

emette un avviso acustico e avvia quindi il raffreddamento forzato. L’operazione 
vera e propria di raffreddamento inizia dopo circa 3 minuti.
Verificare l’avvenuta emissione di aria fredda. Se l’operazione non si avvia è 
opportuno verificare nuovamente i collegamenti elettrici.

2. Per arrestare la prova di funzionamento è sufficiente premere il tasto TEMPORARY 
per circa 1 secondo.
• Mentre il raffreddamento forzato è in corso controllare i collegamenti elettrici e 

idraulici dell’unità interna e di quella esterna.

Come maneggiare il telecomando
Telecomando fissato alla parete
Premendo il tasto  con il telecomando temporaneamente avvicinato al punto 
d’installazione previsto verificare che l’unità interna riceva correttamente il segnale.

Funzione di auto-diagnosi e provvedimenti
• La tabella che segue riporta alcuni esempi di problema. Per informazioni 

particolareggiate sugli errori dell’unità interna si prega di vederne il manuale 
d’installazione.

LED del ricevitore del segnale : OFF : lampeggiante a intervalli di 0,5 secondi
Colore dei LED : Verde : Verde : Arancione
Spiegazione del funzionamento al cliente
• Al termine dell’installazione eseguire una prova di funzionamento per verificare che il 

condizionatore funzioni correttamente; consegnare quindi al cliente sia il manuale 
dell’utilizzatore sia quello d’installazione del Kit telecomando senza filo.

• Spiegare inoltre al cliente come usare e manutenere il Kit telecomando senza filo 
secondo quanto riportato nel manuale dell’utilizzatore del Kit telecomando senza filo 
stesso.

• Inserimento delle batterie
1. Rimuovere il coperchio del vano porta-batterie.
2. Inserire due nuove batterie (R03 [AAA]) 

osservando il corretto orientamento delle polarità 
(+) e (-).

LED Possibile causa Provvedimenti

Durante l’uso del telecomando 
questi LED non si accendono 
né lampeggiano.

- L’unità non è alimentata 
elettricamente.

- Il collegamento tra il ricevitore 
del segnale e l’unità interna è 
errato

Controllare i collegamenti e, se 
necessario, rieseguirli.

Il collegamento tra il ricevitore 
del segnale e l’unità interna è 
allentato

Il collegamento tra l’unità 
interna e quella esterna è errato 
o allentato

Si è attivato il dispositivo di 
protezione dell’unità esterna. Controllare l’unità esterna.

Si è attivato il dispositivo di 
protezione dell’unità interna. Controllare l’unità interna.

Tasto TEMPORARY

1

2

Vite di fissaggio 
M4 x 16 mm

Porta-telecomando Telecomando

Porta-telecomando
Premere

Inserire

AC
L

01_A1.indd   101_A1.indd   1 7/19/2011   9:09:50 AM7/19/2011   9:09:50 AM



MANUAL DE INSTALACIÓN

Para el personal encargado del trabajo de instalación y 
de la asistencia técnica
Kit del mando a distancia inalámbrico
Modelo: TCB-AX32E2

EB01800301 (ES)

• Gracias por adquirir el Kit del mando a distancia inalámbrico para el aparato de 
aire acondicionado TOSHIBA.

• Antes de empezar el trabajo de instalación, lea detenidamente este manual para la 
correcta instalación del Kit del mando a distancia inalámbrico.

• Una vez finalizada la instalación, realice una prueba de funcionamiento para 
comprobar que funciona normalmente y explíquele al cliente cómo utilizar el Kit del 
mando a distancia inalámbrico y realizar el mantenimiento de acuerdo con el 
Manual del propietario.

Pídale al cliente que guarde este manual junto con el Manual del propietario.

Observe las precauciones de seguridad descritas en el Manual del propietario del Kit 
del mando a distancia inalámbrico, Manual de instalación y Manual del propietario de 
la unidad interior.

Accesorios

Sitio de instalación del receptor de la señal
• No lo instale en ambientes aceitosos, como en una cocina o fábrica.
• No lo instale junto a una ventana, ni en ningún otro lugar expuesto directamente a 

la luz del sol o al aire exterior.
• No lo instale cerca de dispositivos que puedan generar ruidos eléctricos como, 

por ejemplo, ascensores, puertas automáticas y máquinas de coser industriales.
• El receptor de la señal puede no recibir la señal del mando a distancia inalámbrico 

cuando esté instalado cerca de una lámpara fluorescente del tipo de encendido 
rápido o tipo “inverter” (o sea, una lámpara que no incluye lámpara 
incandescente). Para prevenir el riesgo de interferencias de las lámparas 
fluorescentes, deje un espacio de 2 m como mínimo entre el receptor de la señal y 
las lámparas fluorescentes, e instale el receptor en un lugar desde el cual sea 
posible recibir las señales del mando a distancia inalámbrico cuando estén 
encendidas las lámparas fluorescentes.

Cómo instalar el receptor de la señal
Para prevenir descargas eléctricas, empotre los cables en la pared de manera que no 
queden expuestos.
Cuando instale los cables en la pared, asegúrese de cubrirlos con materiales aislantes.
Nota:

• Para evitar el mal funcionamiento del mando a distancia, recuerde no instalar ni 
tender el cableado del mando a distancia junto con los cables de alimentación, ni 
los haga pasar por el mismo conducto metálico.

• Cuando la unidad de alimentación genera ruidos eléctricos, se recomienda 
instalar un filtro de ruidos o similar.

Instalación en la caja de interruptores
1. Inserte un destornillador de 

punta plana o similar en la 
ranura y extraiga la caja inferior. 
(Fig. 1)

2. Fije la caja inferior con los 
tornillos M4 x 25 mm 
suministrados. Tenga la 
precaución de no apretarlos en 
exceso y utilice los 
espaciadores suministrados. Si 
el receptor de la señal no 
cuadra bien en la pared, corte 
espaciadores para ajustar la 
holgura.

3. Conecte el cableado del receptor de la señal (cable de control de 2 núcleos) con 
los cables que se extienden desde la unidad interior. (Fig. 2)
(Consulte Cableado del receptor de la señal.) 
Cuando realice el cableado del receptor de la señal, asegúrese de comprobar el 
número correcto de terminales de la unidad interior. El receptor de la señal se 
dañará si se aplica una tensión alta (como por ejemplo, 220 - 240 V).

4. Vuelva a instalar la caja superior.

Nº Nombre de la pieza Cant.

1

Receptor de la señal 
(cable de control de 200 
mm suministrado) 1

2
Soporte de montaje

1

3 Tornillos M4 x 25 mm 2

4 Tornillos M4 x 40 mm 2

5 Tornillos de madera 2

6 Separador 4

7 Juntas para cables 2

8 Sujetacables 1

9 Plantilla
95 mm x 51 mm 1

10 Mando a distancia 1

11
Soporte del mando a 
distancia 1

12
Tornillo para el soporte 
del mando a distancia
M4 x 16 mm

2

13
Manual de 
instalación 1

14
Manual del 
propietario 1

Nº Nombre de la pieza Cant.

Receptor de la 
señal

Separador

Tornillo M4 x 25 mm

Caja de interruptores 
(adquirido localmente)

Caja inferior

Receptor de la 
señal

Fig.1

Carcasa para cables
Fig.2

Cableado del receptor de la señal
Cableado
<Esquema de cableado>

<Junta para cables>
1. Pele aproximadamente 14 mm de aislamiento de los extremos de los cables a 

conectarse.
2. Retuerza juntos los 2 cables y comprima la conexión en la junta del cable.
3. Si no se utiliza una herramienta especial para comprimir cables, o si se suelda la 

conexión, aísle los cables con cinta aislante.

Montaje en el techo
1. Corte una sección en el techo a lo largo del patrón de 

papel suministrado (95 x 51 mm).
2. Pase el cable a través del soporte de montaje 

suministrado e inserte el soporte en el orificio de 
instalación. (Fig. 3)

3. Utilice las partes (A) y (B) del soporte para que quede 
firmemente adherido al material del techo. (Fig. 4)

4. Conecte el cable de control (2 núcleos) del receptor 
de la señal al cable de control procedente de la 
unidad interior. (Consulte “Cableado del receptor de 
la señal”.) Compruebe el número de terminales de la 
unidad interior antes de realizar el cableado del 
receptor de la señal y asegúrese de realizar 
correctamente el cableado. (La unidad se dañará si 
se aplica una tensión alta, como por ejemplo, 220 - 
240 V.)

5. Inserte un destornillador para tornillos de cabeza 
ranurada en la abertura de la parte inferior del mando 
a distancia. Retire la caja inferior del receptor de la 
señal.

6. Ajuste los espaciadores suministrados de manera que 
sobrepasen por varios milímetros el grosor del 
material del techo. Pase los 2 tornillos suministrados 
(M4 x 40 mm) a través de los espaciadores y 
apriételos lo suficiente para que el receptor de la 
señal quede correctamente sujetado.

7. Vuelva a pasar las partes (A) y (B) a través del huelgo 
existente entre el techo y el receptor de la señal de 
manera que queden dentro de las aberturas. Luego 
apriete los tornillos.
Preste atención para no apretarlos en exceso. Podría 
causar daños o deformación de la caja.
Apriete hasta que el receptor de la señal pueda 
moverse ligeramente con la mano. (Fig. 5)

8. Fije firmemente el receptor de la señal a la caja 
inferior.

Fig.3
Parte (A)

Fig.4

Parte (B)

Fig.5

Receptor de la 
señal

Conexión de la junta para cables

Cable de control (adquirido localmente)
Tamaño del cable 2 x 0,5 a 2,0 mm2

Bloque de terminales para la 
conexión del mando a distancia de 
la unidad interior

Blanco

Negro

Cable de control de la unidad interior
(Disponible en el mercado)

Junta del cable (suministrado)Cable de control procedente del receptor 
de la señal

Instalación de múltiples mandos a distancia
El control mediante dos mandos a distancia se habilita instalando el mando a distancia 
inalámbrico con el mando a distancia alámbrico para una unidad interior.
(Puede instalarse un máximo de 2 mandos a distancia, inalámbrico o alámbrico).
El mando “2 mandos a distancia” significa que una o más unidades se controlan 
mediante múltiples mandos a distancia.
Nota:
1. Una vez confirmado los números de los terminales de la unidad interior, conecte el 

cable de control sin cometer errores de cableado. (La unidad se dañará si se le 
aplican 220 - 240 V).

2. Los kits de múltiples mandos a distancia inalámbricos no se pueden utilizar de 
manera simultánea para una unidad interior.

3. Cuando instale el mando a distancia inalámbrico y el mando a distancia alámbrico 
simultáneamente, configure uno de ellos como mando a distancia secundario.
• Para utilizar el mando a distancia alámbrico o el mando a distancia Lite-vision plus 

como mando secundario deberá cambiar los ajustes. Para obtener más 
información, consulte el manual de instalación de cada mando.

• Para utilizar el mando a distancia inalámbrico como mando secundario, ajuste a 
“ON” (conectar) el bit 4 (lado del secundario) del interruptor DIP SW30 en el 
tablero de circuitos impresos del receptor de la señal.

2 mandos a distancia
La unidad interior se controla configurando el mando a distancia inalámbrico o 
alámbrico como mando principal o secundario.
(Longitud total del cable: menos de 400 m)

Control de grupo
Los mandos a distancia principal y secundario funcionan aún cuando estén instalados 
en cualquier unidad interior. 
(Longitud total del cable: menos de 200 m)

Ajuste de la dirección del mando a distancia (selección A-B)
• Cuando dos o más receptores de la señal estén instaladas en una misma sala, se 

podrá configurar una dirección única para cada receptor con el fin de evitar 
interferencias.

• La dirección (selección A-B) debe cambiarse tanto en el receptor de la señal 
como en el mando a distancia inalámbrico.

• Para obtener información sobre el cambio de dirección (selección A-B) en el 
mando a distancia inalámbrico, consulte el manual del propietario.

Desconecte la alimentación de la unidad interior. Conecte el bit 3 del interruptor DIP 
SW30 en el tablero de circuitos impresos del receptor de la señal.
El cambio de configuración se muestra a continuación.

Interruptor DIP [SW30]
4 ON=secundario OFF=principal
3 ON=B OFF=A
2 Sin uso
1 Sin uso

A B

Kit del mando a distancia 
inalámbrico (principal)

Mando a distancia 
alámbrico (secundario)

(en venta por separado)

Cable de control
(Disponible en el 
mercado)
2 x 0,5 a 2,0 mm2

Unidad interior
Tierra

Bloque de terminales 
para la conexión del 
mando a distancia

Receptor de la señal

A B A B A B A B

Kit del mando a distancia 
inalámbrico (principal)

Mando a distancia 
alámbrico (secundario)

(en venta 
por 
separado)

Cable de control para control de grupo 
(Disponible en el mercado)
2 x 0,5 a 2,0 mm2

Tierra

Bloque de 
terminales para 
la conexión del 
mando a 
distancia

Receptor de la 
señal

Tierra Tierra Tierra

Unidad 
interior Nº 1

Unidad 
interior Nº 2

Unidad 
interior Nº 3

Unidad 
interior Nº 4

SW30

S
W
30

1

O
N

2
3

4

Prueba de funcionamiento (operación de refrigeración forzada)
Requisitos:

• Finalice la operación de refrigeración forzada en poco tiempo debido a que se 
aplica una fuerza excesiva al aparato de aire acondicionado.

Cómo realizar una operación de refrigeración forzada
1. Cuando se pulsa el botón TEMPORARY durante 10 segundos o más, se oirá el 

pitido “Pi!” y la operación cambiará a la de refrigeración forzada. Después de unos 3 
minutos, se iniciará la operación de refrigeración forzada.
Compruebe que comience a salir la corriente de aire frío. Si la operación no se 
inicia, vuelva a comprobar el cableado.

2. Para detener la prueba de funcionamiento, vuelva a pulsar el botón TEMPORARY 
(aprox. 1 segundo).
• Compruebe el cableado / tubería de las unidades interior y exterior durante la 

operación de refrigeración forzada.

Cómo utilizar el mando a distancia
Cuando se utilice el mando a distancia montado en la pared, etc.
Pulse el botón  y compruebe que la señal se reciba correctamente en la posición 
donde será fijado.

Función de autodiagnóstico y medidas
• La siguiente tabla muestra algunos ejemplos: Para obtener más información 

sobre errores en las unidades interiores, consulte el Manual de instalación de la 
unidad interior.

LEDs en el receptor de la señal : OFF : Parpadeando (a intervalos de 0,5 
segundos)
Color de los LED : Verde : Verde : Naranja
Explicación a los clientes
• Una vez finalizado el proceso de instalación, lleve a cabo una prueba de 

funcionamiento para comprobar que funciona normalmente y, a continuación, 
entregue al cliente el Manual del propietario y el Manual de instalación del Kit del 
mando a distancia inalámbrico.

• Explique el uso y el mantenimiento del Kit del mando a distancia inalámbrico al 
cliente conforme al Manual del propietario del Kit del mando a distancia inalámbrico.

• Instalación de las pilas
1. Quite la cubierta del compartimiento de las pilas.
2. Inserte 2 pilas nuevas (R03 [AAA]) observando las 

polaridades (+) y (-).

LED Causa posible Medidas

Estos LED no se encienden ni 
parpadean aunque se esté 
utilizando el mando a distancia.

- No se ha conectado la 
alimentación.

- Conexión incorrecta entre el 
receptor de la señal y la 
unidad interior

Compruebe la conexión y 
vuelva a conectar los cables 
correctamente en caso 
necesario.

Conexión floja entre el receptor 
de la señal y la unidad interior

Conexión defectuosa o floja 
entre las unidades interior y 
exterior

El dispositivo de protección de 
la unidad exterior está activado. Compruebe la unidad exterior.

El dispositivo de protección de 
la unidad interior está activado. Compruebe la unidad interior.

Botón TEMPORARY

1

2

Tornillo de 
montaje 
M4 x 16 mm

Soporte del mando a distancia Mando a 
distancia

Soporte del 
mando a 
distancia

Apretar

Poner.

AC
L

INSTALLATIEHANDLEIDING

Voor de installateur en onderhoudsmonteur
Draadloze afstandsbedieningskit
Model: TCB-AX32E2

EB01800301 (NL)

• Dank u voor de aanschaf van de Draadloze afstandsbedieningskit TOSHIBA 
airconditioner.

• Lees deze handleiding zorgvuldig door om de draadloze afstandsbedieningskit op 
de juiste manier te installeren.

• Test na het installeren de unit om te controleren of deze goed werkt en leg het 
gebruik en het onderhoud van de draadloze afstandsbedieningskit uit aan de klant 
aan de hand van de Gebruiksaanwijzing.

Vraag de klant om deze handleiding bij de Gebruiksaanwijzing te bewaren.

Volg de veiligheidsvoorzorgen die in de Gebruiksaanwijzing van de draadloze 
afstandsbedieningskit, de Installatiehandleiding en de Gebruiksaanwijzing van de 
binnenunit zijn beschreven.

Accessoires

Installatieplaats van signaalontvangst-unit
• Installeer niet op een plaats met oliedampen, bijvoorbeeld in een keuken of 

fabrieksruimte.
• Installeer niet in de buurt van een raam of op plaatsen die aan het directe zonlicht 

en de buitenlucht onderhevig zijn.
• Installeer niet in de buurt van apparatuur en voorwerpen die elektrische ruis 

opwekken, bijvoorbeeld een lift, automatische deur en industriële naaimachines.
• Indien de signaalontvangst-unit in de buurt van een snel-startend soort lamp of 

inverter-neonlamp (verlichting zonder gloeilamp) is geplaatst, kan het signaal van 
de draadloze afstandsbediening in bepaalde gevallen niet worden ontvangen. Om 
storing door neonverlichting te voorkomen, moet er ten minste een afstand van 2 
meter tussen de signaalontvangst-unit en de neonverlichting zijn. Installeer de 
signaalontvangst-unit op een plaats waar de signalen van de draadloze 
afstandsbediening kunnen worden ontvangen wanneer de neonverlichting brandt.

Installeren van de signaalontvangst-unit
Voorkom elektrische schokken en verberg derhalve de draden in de muur zodat ze niet 
blootliggen.
Indien u de draden aan de muur bevestigt, moet u ze beslist met isolatiemateriaal 
bedekken.
Opmerking:

• Voorkom een onjuiste werking van de afstandsbediening en demonteer deze 
derhalve niet, leid de draden niet langs stroomkabels en leid ze niet door gedeelde 
metalen leidingen.

• Plaats een ruisfilter of dergelijke voorziening indien de stroomtoevoer elektrische 
ruis opwekt.

Installeren in de schakelbox
1. Steek een schroevendraaier 

met platte kop in de groef en 
verwijder de onderafdekking. 
(Afb. 1)

2. Bevestig de onderafdekking met 
de bijgeleverde M4 x 25 
schroeven. Draai niet te strak 
vast en gebruik de bijgeleverde 
afstandsstukken. Indien de 
signaalontvangst-unit niet goed 
op de muur past, moet u de 
afstandsstukken op het juiste 
formaat knippen.

3. Verbind de bedrading van de signaalontvangst-unit (2-kern bedieningsdraad) met 
de draden van de binnenunit. (Afb. 2)
(Zie Bedrading van signaalontvangst-unit.) 
Bepaal de juiste aansluitnummers op de binnenunit voor het verbinden van de 
draden van de signaalontvangst-unit. De signaalontvangst-unit wordt door een 
hoog voltage (220 - 240 V) beschadigd.

4. Bevestig de bovenafdekking weer.

Nr. Naam van onderdeel Hoeveelheid

1

Signaalontvangst-unit 
(bijgeleverd 200 mm 
bedieningsdraad) 1

2
Bevestigingsbeugel

1

3 Schroeven M4 x 25 mm 2

4 Schroeven M4 x 40 mm 2

5 Houtschroeven 2

6 Afstandstuk 4

7 Draadverbindingen 2

8 Kabelklem 1

9 Installatiepatroon
95 mm x 51 mm 1

10 Afstandsbesturing 1

11
Houder van de 
afstandsbediening 1

12
Schroef voor houder van 
afstandsbediening
M4 x 16 mm

2

13
Installatiehandleiding

1

14
Gebruiksaanwijzing

1

Nr. Naam van onderdeel Hoeveelheid

Signaalontvangst-
unit

Afstandstuk

Schroef M4 x 25 mm

Schakelbox (los verkrijgbaar)

Onderhouder

Signaalontvangst-
unit

Afb.1

Behuizing van bedrading
Afb.2

Bedrading van signaalontvangst-unit
Bedrading
<Aansluitschema>

<Draadverbinding>
1. Verwijder ongeveer 14 mm isolatiemateriaal van de uiteinden van de te verbinden 

draden.
2. Strengel de 2 draden ineen en plaats een klem bij de draadverbinding.
3. Indien u geen speciale klem gebruikt of in geval van een gesoldeerde verbinding, 

moet u de draden met isoleerband isoleren.

Bevestiging aan een plafond
1. Gebruik het bijgeleverde papieren installatiepatroon 

(95 x 51 mm) en verwijder een overeenkomstig 
gedeelte van het plafond.

2. Haal het draad door de bijgeleverde 
bevestigingsbeugel en steek de beugel in het 
installatiegat. (Afb. 3)

3. Gebruik de (A) en (B) gedeeltes van de beugel om 
goed aan het plafond vast te zetten. (Afb. 4)

4. Verbind de bedrading van de signaalontvangst-unit 
(2-kern draad) met de bedieningsdraad van de 
binnenunit. (Zie “Bedrading van signaalontvangst-
unit”.) Controleer het aansluitnummer van de 
binnenunit alvorens de signaalontvangst-unit te 
verbinden en sluit de draden juist aan. (De unit wordt 
door een hoog voltage van 220 - 240 V beschadigd.)

5. Steek een schroevendraaier in de opening aan de 
onderkant van de afstandsbediening. Verwijder de 
onderafdekking van de signaalontvangst-unit.

6. Snij de bijgeleverde afstandsstukken zodanig af dat 
ze een paar milimeter dikker zijn dan de dikte van het 
plafond. Steek de 2 bijgeleverde schroeven (M4 x 40 
mm) door de afstandsstukken en draai ze zodanig 
vast dat de signaalontvangst-unit goed op zijn plaats 
wordt gehouden.

7. Plaats gedeeltes (A) en (B) weer door de opening 
tussen het plafond en de signaalontvangst-unit zodat 
ze goed in de openingen vastzitten. Draai de 
schroeven vervolgens vast.
Draai de schroeven niet overmatig vast. De houder 
wordt anders namelijk beschadigd of vervormd.
Draai vast tot het punt waarbij de signaalontvangst-
unit nog iets met de hand kan worden verplaatst. (Afb. 
5)

8. Bevestig de signaalontvangst-unit aan de 
onderafdekking.

Afb.3
Gedeelte (A)

Afb.4

Gedeelte (B)

Afb.5

Signaalontvangst-unit

Aansluiting draadverbinding

Bedieningsdraad (los verkrijgbaar)
Draadformaat 2 x 0,5 tot 2,0 mm2

Aansluitblok 
afstandsbediening 
binnenunit

Wit

Zwart

Bedieningsdraad binnenunit
(los verkrijgbaar)

Draadverbinding (bijgeleverd)Bedieningsdraad van signaalontvangst-unit

Installeren van meerdere afstandsbedieningen
U kunt de diverse handelingen ook met twee afstandsbedieningen uitvoeren door de 
draadloze afstandsbediening samen met de bedrade afstandsbediening voor een 
binnenunit te installeren.
(Het gebruik van 2 bedrade of 2 draadloze afstandsbedieningen is echter niet 
mogelijk.)
“2 afstandsbedieningen” bediening betekent dat een of meerdere units met meerdere 
afstandsbedieningen kunnen worden bediend.
Opmerking:
1. Controleer de aansluitnummers van de binnenunit en verbind het bedieningsdraad op 

de juiste wijze. (De unit wordt beschadigd door een stroomtoevoer van 220 - 240 V.)
2. De kits voor meerdere draadloze afstandsbediening kunnen niet tegelijk voor een 

binnenunit worden gebruikt.
3. Indien u tegelijk de draadloze afstandsbediening en de bedrade afstandsbediening 

installeert, moet u een van deze afstandsbedieningen als “volger-
afstandsbediening” instellen.
• Voor  gebruik van de bedrade afstandsbediening of de Lite-vision plus 

afstandsbediening als “volger”, moeten de instellingen worden veranderd. Zie de 
installatiehandleiding van de betreffende afstandsbediening voor meer informatie.

• Om de draadloze afstandsbediening als “volger-afstandsbediening” te gebruiken, 
drukt u bit 4 (volger-kant) van DIP-schakelaar SW30 op de printplaat van de 
signaalontvangst-unit naar ON (AAN).

2 afstandsbedieningen
De binnenunit kan worden bediend wanneer de draadloze of bedrade 
afstandsbediening als hoofd-afstandsbediening of als “volger-afstandsbediening” is 
ingesteld.
(Totale draadlengte: Binnen 400 m)

Groepsbediening
De hoofd-afstandsbediening en volger-afstandsbedieningen zijn ook bruikbaar 
wanneer aangesloten op een willekeurige binnenunit. 
(Totale draadlengte: Binnen 200 m)

Instellen van afstandsbedieningsadres (A-B keuze)
• Wanneer er twee of meerdere signaalontvangst-units in een ruimte zijn 

geïnstalleerd, kunt u een specifiek adres instellen voor elke signaalontvangst-unit 
om storing te voorkomen.

• Het adres (A-B keuze) moet zowel op beide signaalontvangst-units als de 
draadloze afstandsbediening worden veranderd.

• Zie de handleiding voor details aangaande het veranderen van het adres (A-B 
keuze) van de draadloze afstandsbediening.

Schakel de stroomtoevoer van de binnenunit uit. Activeer bit 3 van DIP-schakelaar 
SW30 op de printplaat van de signaalontvangst-unit.
De verandering van de instelling wordt hieronder getoond.

DIP-schakelaar [SW30]

4 ON=volger-afstandsbediening
OFF=hoofd-afstandsbediening

3 ON=B OFF=A
2 Niet in gebruik
1 Niet in gebruik

A B

Draadloze afstandsbedieningskit 
(hoofd-afstandsbediening)

Bedrade afstandsbediening 
(volger-afstandsbediening)

(Los verkrijgbaar)

Bedieningsdraad
(los verkrijgbaar)
2 x 0,5 tot 2,0 mm2

Binnenunit
Aarding

Aansluitblok voor 
verbinding van de 
afstandsbediening

Signaalontvangst-
unit

A B A B A B A B

Draadloze afstandsbedieningskit 
(hoofd-afstandsbediening)

Bedrade afstandsbediening 
(volger-afstandsbediening)

(Los 
verkrijgbaar)

Bedieningsdraad voor groepsregeling 
(los verkrijgbaar)
2 x 0,5 tot 2,0 mm2

Aarding

Aansluitblok voor 
verbinding van de 
afstandsbediening

Signaalontvangst-
unit

Aarding Aarding Aarding

Binnenunit 
Nr. 1

Binnenunit 
Nr. 2

Binnenunit 
Nr. 3

Binnenunit 
Nr. 4

SW30

S
W
30

1

O
N

2
3

4

Testen van de werking (geforceerd koelen)
Vereisten:

• De airconditioner wordt door het geforceerd koelen zwaar belast. Voltooi de 
procedure derhalve zo snel als mogelijk.

Uitvoeren van geforceerd koelen
1. Wanneer u de TEMPORARY toets 10 seconden of langer indrukt, hoort u een 

“pieptoon” en wordt de geforceerde koelfunctie geactiveerd. Na ongeveer 3 minuten 
start het geforceerd koelen.
Controleer of koele lucht wordt uitgeblazen. Controleer de bedrading opnieuw 
indien de werking niet start.

2. Druk nogmaals (ongeveer 1 seconde) op de TEMPORARY toets om de test te stoppen.
• Controleer de bedrading/verbinding van de binnenunit en buitenunit tijdens 

geforceerd koelen.

Informatie over de afstandsbediening
Voor gebruik van de afstandsbediening aan een muur, etc. bevestigd
Controleer dat het signaal juist wordt ontvangen door met de afstandsbediening op de 
bevestigingsplaats op de  toets te drukken.

Zelfdiagnosefunctie en maatregelen
• In de volgende tabel worden een paar voorbeelden gegeven. Raadpleeg de 

Installatiehandleiding van de binnenunit voor meer informatie over storingen van 
de binnenunit.

Indicators op de signaalontvangst-unit : OFF : Knipperend (met een interval van 
0,5 seconde)
Kleur van de indicator : Groen : Groen : Oranje
Uitleg aan de klant
• Nadat de installatiewerkzaamheden zijn voltooid, moet u controleren of de unit juist 

functioneert. Geef vervolgens de Gebruiksaanwijzing en de Installatiehandleiding 
van de draadloze afstandsbedieningskit aan de klant.

• Leg het gebruik en het onderhoud van de draadloze afstandsbedieningskit aan de 
klant uit overeenkomstig de aanwijzingen in de Gebruiksaanwijzing van de draadloze 
afstandsbedieningskit.

• Plaatsen van batterijen
1. Verwijder de batterij-afdekking.
2. Plaats 2 nieuwe batterijen (R03 [AAA]) met de (+) 

en (-) polen in de juiste richting.

LED Mogelijke oorzaak Maatregelen

De indicators lichten niet op en 
knipperen niet wanneer de 
afstandsbediening wordt gebruikt.

-De stroom is niet 
ingeschakeld.

-Foute verbinding tussen de 
signaalontvangst-unit en de 
binnenunit

Controleer de aansluitingen 
en sluit indien nodig de 
draden correct aan.

Losse verbinding tussen de 
signaalontvangst-unit en de 
binnenunit

Geen goede of loszittende 
aansluiting tussen de 
binnenunit en de buitenunit

De beveiliging van de buitenunit 
is geactiveerd. Controleer de buitenunit.

De beveiliging van de 
binnenunit is geactiveerd. Controleer de binnenunit.

TEMPORARY toets

1

2

Bevestigingsschroef 
M4 x 16 mm

Houder van de afstandsbediening Afstandsbesturing

Houder van de 
afstandsbediening

Drukken

Plaatsen.

AC
L

MANUAL DE INSTALAÇÃO

Ao pessoal responsável pelo trabalho de instalação e 
serviço
Kit de controlador remoto sem fio
Modelo: TCB-AX32E2

EB01800301 (PT)

• Obrigado por comprar este Kit de controlador remoto sem fio para aparelhos de ar 
condicionado TOSHIBA.

• Leia atentamente este manual para realizar a instalação correcta do kit de 
controlador remoto sem fio antes de iniciar o trabalho.

• Depois de terminar a instalação, execute um funcionamento de teste para verificar 
o funcionamento normal e explique ao cliente como utilizar e manter o kit de 
controlador remoto sem fio de acordo com o Manual do Proprietário.

Peça ao cliente para guardar este manual com o Manual do Proprietário.

Observe as precauções de segurança descritas no Manual do Proprietário do kit de 
controlador remoto sem fio, Manual de Instalação e Manual do Proprietário da unidade 
interior.

Acessórios

Localização de instalação da unidade de recepção de sinal
• Não instale num lugar onde o ar contenha vapor de óleo, tal como numa cozinha 

ou fábrica.
• Não instale perto de uma janela, ou em qualquer outro lugar directamente exposto 

à luz solar e ar exterior.
• Não instale perto de dispositivos que possam produzir ruído eléctrico, tais como 

elevadores, portas automáticas e máquinas de costura industriais.
• Se a unidade de recepção de sinal for instalada perto de uma lâmpada 

fluorescente do tipo de início rápido ou tipo de inversão (uma lâmpada que não 
incluir uma lâmpada incandescente), pode não ser possível receber o sinal do 
controlador remoto sem fio em alguns casos. Para evitar a interferência das 
lâmpadas fluorescentes, permita um mínimo de 2 m entre a unidade da recepção 
de sinal e as lâmpadas fluorescentes, e instale a unidade de recepção de sinal 
num lugar onde ela possa receber o sinal do controlador remoto sem fio quando 
as lâmpadas fluorescentes estiverem acesas.

Como instalar a unidade de recepção de sinal
Para evitar choques eléctricos, embeba os fios na parede e não os exponha. Quando 
instalar fios na parede, certifique-se de cobri-los com materiais de isolamento.
Nota:

• Para evitar o mau funcionamento do controlador remoto, não monte nem 
posicione a cablagem de controlo remoto junto com cabos de alimentação, e não 
os encerre na mesma conduta de metal.

• Se a unidade de alimentação estiver a induzir ruído eléctrico, é recomendável 
instalar um filtro de ruído ou outro dispositivo similar.

Instalação na caixa de interruptores
1. Insira uma chave de fendas ou 

outra ferramenta similar na 
ranhura e, em seguida, retire a 
caixa inferior. (Fig. 1)

2. Fixe a caixa inferior com os 
parafusos M4 x 25 mm 
fornecidos. Não aperte 
demasiadamente e utilize os 
espaçadores fornecidos. Se a 
unidade de recepção de sinal não 
se ajustar na parede, corte os 
espaçadores para ajustar a folga.

3. Conecte a cablagem da unidade de recepção de sinal (cabo de controlo de 2 
núcleos) com os cabos que se estendem da unidade interior. (Fig. 2)
(Consulte Cablagem da unidade de recepção de sinal.) 
Certifique-se de determinar os números correctos dos terminais na unidade interior 
quando fizer a instalação eléctrica da unidade de recepção de sinal. A unidade de 
recepção de sinal será danificada se uma alta tensão (como 220 – 240 V) for 
aplicada.

4. Volte a fixar a caixa superior.

Nº Nome da peça Quant.

1

Unidade de recepção 
de sinal 
(cabo de controlo de 
200 mm fornecido)

1

2
Suporte de 
montagem 1

3 Parafusos M4 x 25 mm 2

4 Parafusos M4 x 
40 mm 2

5 Parafusos para 
madeira 2

6 Espaçador 4

7 Junções de cabos 2

8
Abraçadeira de 
cabo 1

9 Gabarito
95 mm x 51 mm 1

10 Telecomando 1

11
Suporte do 
controlador remoto 1

12

Parafuso para 
suporte do 
controlador remoto
M4 x 16 mm

2

13
Manual de 
Instalação 1

14
Manual do 
Proprietário 1

Nº Nome da peça Quant.

Unidade de 
recepção de sinal Espaçador

Parafuso M4 x 25 mm

Caixa de interruptores (fornecimento local)

Caixa inferior

Unidade de recepção 
de sinal

Fig.1

Compartimento dos cabos
Fig.2

Cablagem da unidade de recepção de sinal
Cablagem
<Diagrama de cablagem>

<Junção de cabos>
1. Descame o isolamento cerca de 14 mm desde as extremidades dos fios a serem 

conectados.
2. Torça junto os 2 fios e crie uma conexão engastada na união do fio.
3. Se uma ferramenta de engaste especial não for utilizada, ou se a conexão for 

soldada, isole os fios com uma fita de isolamento.

Montagem num tecto
1. Corte a secção do tecto ao longo do gabarito de papel 

fornecido (95 x 51 mm).
2. Passe o cabo através do suporte de montagem 

fornecido e insira o suporte no orifício de instalação. 
(Fig. 3)

3. Utilize as peças (A) e (B) do suporte para segurar o 
material do tecto firmemente. (Fig. 4)

4. Conecte o cabo da unidade de recepção de sinal (2 
núcleos) ao cabo de controlo da unidade interior. 
(Consulte “Cablagem da unidade de recepção de 
sinal”.) Verifique o número dos terminais na unidade 
interior antes de fazer a instalação eléctrica da 
unidade de recepção de sinal e certifique-se de fazer 
as conexões correctamente. (A unidade de recepção 
de sinal será danificada se uma alta tensão, como 
220 – 240 V, for aplicada.)

5. Insira uma chave de fendas na abertura na parte 
inferior do controlado remoto. Retire a caixa inferior 
da unidade de recepção de sinal.

6. Ajuste os espaçadores fornecidos de forma que 
fiquem vários milímetros maiores que a espessura do 
material de tecto. Passe os 2 parafusos fornecidos 
(M4 x 40 mm) através dos espaçadores e aperte-os o 
suficiente para segurar a unidade de recepção de 
sinal em posição.

7. Retorne as partes (A) e (B) através da folga entre o 
tecto e a unidade de recepção de sinal de forma que 
não fiquem contidas nas aberturas. Em seguida, 
aperte os parafusos.
Não aperte os parafusos excessivamente. Isso pode 
provocar danos ou deformação da caixa.
Aperte até ao ponto onde a unidade de recepção de 
sinal possa ser movida ligeiramente com a mão. (Fig. 
5)

8. Fixe firmemente a unidade de recepção de sinal na 
caixa inferior.

Fig.3
Parte (A)

Fig.4

Parte (B)

Fig.5

Unidade de recepção de sinal

Conexão de junção de cabo

Cabo de controlo (fornecimento local)
Tamanho do cabo 2 x 0,5 a 2,0 mm2

Bloco de terminais do 
controlador remoto 
da unidade interior
block

Branco

Preto

Cabo de controlo da unidade interior
(fornecimento local)

Junta de cabo (fornecida)Cabo de controlo da unidade de 
recepção de sinal

Instalação de múltiplos controladores remotos
A instalação do controlador remoto sem fio com o controlador remoto com fio para 
uma unidade interior permite o controlo por dois controladores remotos.
(É possível instalar um máximo de 2 controladores remotos sem fio ou com fio.)
O controlo por 2 controladores remotos significa que uma ou múltiplas unidades são 
operadas por múltiplos controladores remotos.
Nota:
1. Confirme os números dos terminais da unidade interior e conecte o fio de controlo 

correctamente. (Se 220 – 240 V for aplicado, a unidade será danificada.)
2. Os kits de múltiplos controladores remotos sem fio não podem ser utilizados 

simultaneamente para uma unidade interior.
3. Ao instalar um controlador remoto sem fio com o controlador remoto com fio ao 

mesmo tempo, defina um deles como o controlador remoto seguidor.
• Para utilizar o controlador remoto com fio ou o controlador remoto Lite-vision plus 

como um seguidor, altere as definições conforme seja necessário. Para mais 
detalhes, consulte o manual de instalação de cada controlador.

• Para utilizar o controlador remoto sem fio como um seguidor, defina o bit 4 (Lado 
do seguidor) do interruptor DIP SW30 para “ON” na placa de circuito impresso da 
unidade de recepção de sinal.

2 controladores remotos
A unidade interior pode ser operada se houver um controlador remoto sem fio ou com 
fio definido como o controlado remoto principal ou seguidor.
(Comprimento total do fio: Dentro de 400 m)

Controlo de grupo
Os controladores remotos principal e seguidor podem ser operados mesmo que sejam 
instalado em qualquer unidade interior. 
(Comprimento total do fio: Dentro de 200 m)

Definição do endereço do controlador remoto (selecção A-B)
• Quando instalar dois ou mais unidades de recepção de sinal em uma sala, é 

possível definir um endereço exclusivo para cada unidade de recepção de sinal 
para evitar interferências.

• O endereço (selecção A-B) deve ser alterado tanto na unidade de recepção de 
sinal como no controlador remoto sem fio.

• Para mais detalhes sobre a alteração do endereço (selecção A-B) no controlador 
remoto sem fio, consulte o manual do proprietário.

Desligue o fornecimento de alimentação de energia para a unidade interior. Active 
(ON) o bit 3 do interruptor DIP SW30 na placa de circuito impresso da unidade de 
recepção de sinal.
A alteração da definição é mostrada a seguir.

Interruptor DIP [SW30]
4 ON=seguidor OFF=principal
3 ON=B OFF=A
2 Não se utiliza
1 Não se utiliza

A B

Kit de controlador remoto 
sem fio (Principal)

Controlador remoto 
com fio (Seguidor)

(Vendido separadamente)

Cabo de controlo
(fornecimento local)
2 x 0,5 a 2,0 mm2

Unidade interior
Conexão à terra

Bloco de terminais 
de conexão do 
controlador remoto

Unidade de 
recepção de sinal

A B A B A B A B

Kit de controlador remoto 
sem fio (Principal)

Controlador remoto 
com fio (Seguidor)

(Vendido 
separadamente)

Cabo de controle para controlo de grupo 
(fornecimento local)
2 x 0,5 a 2,0 mm2

Conexão à terra

Bloco de 
terminais de 
conexão do 
controlador 
remoto

Unidade de 
recepção de 
sinal

Conexão à terra Conexão à terra Conexão à terra

Unidade 
interior Nº 1

Unidade 
interior Nº 2

Unidade 
interior Nº 3

Unidade 
interior Nº 4

SW30

S
W
30

1

O
N

2
3

4

Teste de funcionamento (Funcionamento de arrefecimento forçado)
Requisito:

• Termine o funcionamento de arrefecimento forçado dentro de um breve período 
de tempo, porque o mesmo aplica um esforço excessivo no aparelho de ar 
condicionado.

Como realizar o funcionamento de arrefecimento forçado
1. Quando o botão TEMPORARY é premido durante 10 segundos ou mais, um som 

de “Pi!” é ouvido e o funcionamento muda para o funcionamento de arrefecimento 
forçado. Após cerca de 3 minutos, o funcionamento de arrefecimento começa 
forçosamente.
Verifique se o ar frio começa a soprar. Se o funcionamento não começar, verifique 
a cablagem de novo.

2. Para interromper um teste de funcionamento, prima o botão TEMPORARY de novo 
(aprox. 1 segundo).
• Verifique a cablagem/tubagem das unidades interiores e exteriores no 

funcionamento de arrefecimento forçado.

Como manusear o controlador remoto
No caso de utilizar o controlador remoto montado numa parede, etc.
Verifique se a recepção do sinal está boa premindo o botão  na posição de 
instalação.

Função de auto-diagnóstico e medidas
• A tabela a seguir mostra alguns exemplos. Para mais detalhes sobre os erros da 

unidade interior, consulte o Manual de Instalação da unidade interior.

LEDs na unidade de recepção de sinal : OFF : Intermitentes (em intervalos de 
0,5 segundos)
Cor do LED : Verde : Verde : Laranja
Explicação ao cliente
• Quando terminar o trabalho de instalação, execute um funcionamento de teste para 

confirmar o funcionamento normal e, em seguida, entregue o Manual do Proprietário 
e o Manual de Instalação do kit de controlador remoto sem fio ao cliente.

• Explique como utilizar e manter o kit de controlador remoto sem fio ao cliente de 
acordo com o Manual do Proprietário do kit de controlador remoto sem fio.

• Colocação das pilhas
1. Retire a tampa do compartimento das pilhas.
2. Instale 2 pilhas novas (R03 [AAA]) nas posições 

(+) e (-) correctas.

LED Causa possível Medidas

Estes LEDs não se acendem 
ou piscam quando o 
controlador remoto é operado.

- O energia está desligada.
- Conexão incorrecta entre a 
unidade de recepção de sinal 
e a unidade interior

Verifique as conexões e volte a 
conectar os cabos 
correctamente, se necessário.

Conexão frouxa entre a 
unidade de recepção de sinal e 
a unidade interior

Conexão incorrecta ou frouxa 
entre a unidade interior e a 
unidade exterior

O dispositivo de protecção da 
unidade exterior é activado. Verifique a unidade exterior.

O dispositivo de protecção da 
unidade interior é activado. Verifique a unidade interior.

Botão TEMPORARY

1

2

Parafuso de 
montagem 
M4 x 16 mm

Suporte do controlador remoto Telecomando

Suporte do 
controlador 
remoto

Empurre

Coloque.

AC
L

 

        
    

  
: TCB-AX32E2

EB01800301 (GR)

•       TOSHIBA   
.

•            
       .

•     ,    
       ,  ,   

          
    .

            .

         
    ,      

    .

     
•            

,      .
•       ,      

           
.

•             
 ,   ,       

.
•             

    (       ),  
             

.         
,     2      

    ,       
             

,      .

     
    ,      

     .
    ,       .

:
•       ,    

        ,    
     .

• '      ,     
     .

   
1.      

    
      

. ( . 1)
2.      

   M4 x 25 
mm.     

   
 .  

     
  ,   

   
  .

3.        (  )   
     . ( . 2)

(       .) 
          

       .     
         (  220 - 240 V).

4.     .

.  

1

  
 

(  200 mm 
 )

1

2
 

1

3  M4 x 25 mm 2

4  M4 x 40 mm 2

5 2

6 4

7  2

8  1

9
 

95 mm x 51 mm
1

10 1

11
 

1

12
   

M4 x 16 mm
2

13
 

1

14
 

1

.  

  

 M4 x 25 mm

  (    )

 

  

.1

 
.2

    

<  >

<  >
1.      14 mm        

.
2.   2          

.
3.            

 ,      .

  
1.          

   (95 x 51 mm).
2.         

       
. ( . 3)

3.    (A)  (B)   
     . ( . 4)

4.        
 (2 )       

 . (   “   
  ”.)     

        
       

     . (   
        

  ,  220 - 240 V).
5.         

     . 
        

.
6.    ,   

         
 .   2   (M4 x 

40 mm)        
       

   .
7.    (A)  (B)      

        
,      . 

 ,   .
    .     

       
.

         
    . ( . 5)

8.         
.

.3
 (A)

.4

 (B)

.5

  

  

  (    
)

  2 x 0.5  2.0 mm2

 
 

 

   
(    )

  ( )      

  
           

         
.

(  2      .)
“2 ”          

  .
:

1.         ,   
    . (      220 - 240 V, 

     .)
2.          

    .
3.          

,       .
•          Lite-

vision plus   ,      
.  ,      

.
•        ,   bit 4 

(   )   DIP SW30,    
      ,   ON.

2 
             

      .
(   :  400 m)

 
           

     . 
(   :  200 m)

   (  A-B)
•            

,           
      .

•   (  A-B)         
,     .

•        (  A-B)   
,    .

     .   bit 3 
  DIP SW30        

.
     .

 DIP [SW30]
4 ON= OFF=
3 ON=B OFF=A
2  
1  

A B

  
 ( )

  
( )

(  )

 
(    )
2 x 0.5  2.0 mm2

 

  
 

  

A B A B A B A B

  
 ( )

  
( )

(  
)

     
(    )
2 x 0.5  2.0 mm2

 
 

 

  

 
 

.1

 
 

.2

 
 

.3

 
 

.4

SW30

S
W
30

1

O
N

2
3

4

  (   )
:

•         
,      .

     
1.    TEMPORARY    10   

,     “Pi!”      
  .    3 ,   

   .
          .     

,    .
2.      ,     TEMPORARY 

(   1 ).
•    /        

   .

   
      , .

               
.

     
•      .   

      ,    
   .

 LED      : OFF :  (  0.5 
)

 LED :  :  : 
  

•      ,   
        ,  , 
           

  .
•           

 ,         
.

•  
1.    .
2.  2   (R03 [AAA]) 

    (+)  (-).

LED  

   LED  
  , 

    
 .

-   .
-    

    
 

   ,  
 ,   
     

.
    

    

    
    

 

    
   

.
   .

    
   

.
   .

 TEMPORARY

1

2

  
M4 x 16 mm

 

 

AC
L

01_A1.indd   201_A1.indd   2 7/19/2011   9:09:51 AM7/19/2011   9:09:51 AM



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.276 841.890]
>> setpagedevice


